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1.  Expand log(1 + cosx) by Maclaurin’s series up to the term containing X6 [08] €Oz L3
| ‘ BT - [07] |cOz] L3
Evaluate: (1) lim mzﬂu ii) lim(cot x)1/108%
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. x-0 x x—0 s -
. iCoz; L3
3. Tind the extreme values of the function flxy) = 2(x?=y?) - x*+y? [071 |
4 Show that for the curve r =a (1 - cosf) is p¥/r = constant. [07] !CO1| L3
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If u =leg (tanx + tany + tanz) show Emrmwzua + ﬂzmu\ + sin2z le =2.

Find the radius of curvature of a’y = x*- a®, at the point where curve meets x-axis

Solve: { 4x3y? +y cos(xy)}dx + {2x% + x cos(xy)}dy = 0
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